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Exception
RuntimeException

NullPointerException |

| VirtualMachineError |

StackOverflowError |

OutOfMemoryError |

ArithmeticException |

IndexOutOfBoundsException |

—| ClassNotFound Exception |

—| DataFormat Exception |
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public class HelloWorld {
public static void main(String args[]) {
int i = 0;
String greetings|[] = {"Hello world!", "No, I mean it!", "HELLO WORLD!!"};
while (i < 4) {
System.out.println(greetings[i]);

i++;

AR R

Hello world!

No, I mean it!

HELLO WORLD! !

Exception in thread "main" java.lang.ArrayIndexOutOfBoundsException

at HelloWorld.main (HelloWorld.java:7)
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1. ArithmeticException

R AR BRECH 0 MR A%

.

int i = 12 / 0;
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2. NullPointerException
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Image im [] = new Image [4];

System.out.println(im[0].toString())

3. NegativeArraySizeException
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4. ArrayIndexOutOfBoundsException
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5. ArrayStoreException
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6. FileNotFoundException
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public void openThisFile(String fileName) throws java.io.FileNotFoundException {

//code for method

—A> throws TRt AT DL B4l HH 2> 5,

public Object convertFileToObject (String fileName)

throws java.io.FileNotFoundException, java.lang.ClassNotFoundException {
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//code for method
}
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public void getCustomerInfo() throws java.io.FileNotFoundException {
//do something
this.openThisFile("customer.txt");
//do something

}
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public void getCustomerInfo () {
try {
//do something that may cause an Exception
} catch (java.lang.Exception ex) {
//Catches all Exceptions
} catch (java.io.FileNotFoundException ex) {

//Never reached since above two are caught first
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public class ExceptionTesterl {

public static void main(String args[]) {
System.out.println("Enter the first number:");
int numberl = Keyboard.getInteger () ;
System.out.println("Enter the second number:");
int number?2 = Keyboard.getInteger();
System.out.print (numberl + " / " + number2 + "=");
int result = numberl / number2;

System.out.println(result);

Hrh, Keyboard K F A 41F

import java.io. * ;
public class Keyboard {
static BufferedReader inputStream = new BufferedReader (new
InputStreamReader (System.in));
public static int getInteger () {
try {
return (Integer.valueOf (inputStream.readLine() .trim()) .intValue());
} catch (Exception e) {
e.printStackTrace();

return 0;

}
public static String getString() {

try {
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return (inputStream.readLine());
} catch (IOException e) {

return "0";

SRR D A 1437 F“ 24”7, Ty 45 SRt T .

Enter the first number:
143

Enter the second number:
24

143 / 24=5

WNRAR U A 1407 F*abe” , W R GE 2 e i S S5 R ANE

Enter the first number:
140
Enter the second number:
abc
java.lang.NumberFormatException: For input string: "abc"
at java.lang.NumberFormatException.forInputString
(NumberFormatException.java:48)
at java.lang.Integer.parselnt(Integer.java:449)
at java.lang.Integer.valueOf (Integer.java:554)
at Keyboard.getInteger (Keyboard.java: 6)
at ExceptionTester.main (ExceptionTester.java:7)
Exception in thread "main" java.lang.ArithmeticException: / by zero
at ExceptionTester.main (ExceptionTester.java:9)

140 / 0=Java Result: 1
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public class ExceptionTester?2 {
public static void main(String args|[]) {
int numberl = 0, number2 = 0;
try {
System.out.println ("Enter the first number:");
numberl = Integer.valueOf (Keyboard.getString()) .intValue();
System.out.println("Enter the second number:") ;

number2 = Integer.valueOf (Keyboard.getString()) .intValue();



} catch (NumberFormatException e) {
System.out.println("Those were not proper integers!quit!");
System.exit (-1);

}

System.out.print (numberl + " / " + number2 + "=");

int result = numberl / number2;

System.out.println(result);

BATESRIT

Enter the first number:
abc

Those were not proper integers! I quit!

I
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public class ExceptionTester3 {
public static void main(String args[]) {

int numberl = 0, number2 = 0, result = 0;

try {
System.out.println("Enter the first number:");
numberl = Integer.valueOf (Keyboard.getString()) .intValue() ;
System.out.println("Enter the second number:") ;
number2 = Integer.valueOf (Keyboard.getString()) .intValue() ;
result = numberl / number2;

} catch (NumberFormatException e) {
System.out.println("Invalid integer entered!");
System.exit (-1);

} catch (ArithmeticException e) {
System.out.println("Second number is 0, cannot do division!");
System.exit(-1);

}

System.out.print (numberl + " / " + number2 + "=" + result);
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Enter the first number:
143

Enter the second number:
0

Second number is 0, cannot do division!
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public class ExceptionTester4 {
public static void main(String argsl[]) {
int result;
int number[] = new int[2];
boolean valid;
for (int i = 0; i < 2; i++) {
valid = false;
while (!valid) {
try {
System.out.println("Enter number " + (i + 1));
number [i] = Integer.valueOf (Keyboard.getString()) .intValue();
valid = true;
} catch (NumberFormatException e) {

System.out.println("Invalid integer entered. Please try again.");

}
try {

result = number[0] / number[1];

System.out.println (number[0] + " / " + number([1] + "=" + result);
} catch (ArithmeticException e) {

System.out.println("Second number is 0, cannot do division!");
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Enter number 1

abc

Invalid integer entered. Please try again.
Enter number 1

efg

Invalid integer entered. Please try again.
Enter number 1

143

Enter number 2

abc

Invalid integer entered. Please try again.
Enter number 2

40

143 / 40=3
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throw new ThrowableObject () ;
ArithmeticException e = new ArithmeticException();

throw e;

EE AR E T £ 0% Throwable 3 H F £ 69 5241,
B 5-6 A RSN 24
BRFEUF .

class ThrowTest {
public static void main(String args[]) {

try {
throw new ArithmeticException() ;

} catch (ArithmeticException ae) {
System.out.println (ae);

}

try {
throw new ArrayIndexOutOfBoundsException() ;

} catch (ArrayIndexOutOfBoundsException ai) {
System.out.println(ai);

}

try {
throw new StringIndexOutOfBoundsException() ;

} catch (StringIndexOutOfBoundsException si) {

System.out.println(si) ;

BATESRIT

java.lang.ArithmeticException
java.lang.ArrayIndexOutOfBoundsException

java.lang.StringIndexOutOfBoundsException
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